J.B. Say’s Law of Markets

The classical economists had immense faith in the law of Markets
enunciated by J.B.Say, the French economist. The law states, Supply
creates i1s own demand. According to Say's law of markets, general
overproduction and unemployment are logically impossible and cannot

exist in an economy under normal conditions, as the supply always |
creates its own demand.




Supply creates its own demand is explaincd.iy? the 'fOHOWing W

In the process of production and supply of goods, incomes arq Crema"“er.

distributed to consumers to enable them to demand goods proq,, Ateq ¢

source of demand for produced goods comes from incomeg o :rend' hg
C€d

factors of production. This can be illustrated as follows: by
~ Production income m
of Goods " Rent, Etc., Re;zsitv,
Rs. 1,000 i By Factor OWﬂered
Rs.1,000
Supply of " Demand Income Genergy
Goods e In the Economgn
RS- 1,000 € . Rs_ 1’000
e

According to Say’s Law of Markets, the production of goods wy,
Rs.1,000 creates income of Rs.1,000 which will become the soyrce of
demand for the supply of goods worth Rs.1,000. Thus any quantit
produced and sold in the market will be demanded and lifted, as for everz
~ production there is a generation of income to an equal amount to demayg

the extra goods. In this sense there can be no overproduction or shortage
of demand. If this be the case, all unemployed factors will pe
automatically employed as their production would create income necessary
to lift the goods from the market. Ultimately all the factor units will be
fully utilized, i.e., a condition of full-employment will be reached.

Assumptions of the Law
(i) The law assumes that there is no government or artificial
intervention in economic activities hindering the automatic and
self-adjusting mechanism of the economy;

(i) In a free enterprise economy working on price-mechanism, there
is ultimited scope for the growing population and an increase of
capital; |

(iii) The size of the markét is capable of expansion and the

expanding markets permit new firms and workers who malge
~ their way into the productive processes without displacing th

existing labour force; and

(iv) All savings are automatically invested and the equ
. savings and investment is brought about by interes

ality betweer
¢ flexibility:

Impliéations of Say’s Law |
(i) Say’s law of markets is a denial of general ove
unemployment in the economy;

(i1)  So long as there exist unemployed resot
is profitable to employ them to the point of

r-production _‘“’d

it
urces in the ecommg’nt’
full employ™=>



su.bj-ect to the limitation that the contributors of resources are
Wdhng' to accept rewards on a par with their physical
productivity;

(iii) Since there is an automatic price mechanism working in the
economy there is no need for government intervention in the

functioning of the economy;
(iv) Interest flexibility brings about equality between savings and
investment; and -

(v) Since whatever is produced can be sold out, money has no role
to perform in the economy except as the medium of exchange to

obviate the difficulties of barter.
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Classical Taemyh()fo?ymfslsuymes the existence of full employmepy ..

‘The cla‘S.SW1 i _orice flexibility, there are automatj s
out inflation. Given wage p ot i ic forgey
in the economic system that tend fo mainiain f”u e'mp loymem‘,‘and”
produée output at that level. ThElSI full employmfmt 1S regardgd 25 3
normal  situation and any deviation from this level is somgthing
abnormal which automatically tends toward .IfU.U- employment. The
classical theory of ..butput and employment is based on 'the follo_wing
assumptions: e o i, SR e s s . ‘ '

1. There is the existénce of full employment without inflation.
2. There is a closed laissez faire capitalist economy without forefgn__
trade. . | Bk =1
3. There is perfect compstition in labour and product markets.
4. Labour is homogenous. P

\

-~ 5. Total output of the economy is divided between consumption |
- and investment expenditures.
' 6. The quantity of money is given, -
7. Wages.and prices are flexible.



- supported Say’s Law in these words,. “Consumption. is co exgnsive

_'with production and pr
demand. It never furnis

of annual produce, it can

: M . J," . i
8 oney wages‘and real wages are directly related and propof-

. tional. . .

9. Capital stock :
shoft rug . tock and technologncal knowledge are given ia the
-Say’s Law of Markets. Say’ - e _
classical theory of e mploymi;nst.LJiZHOfBI;ﬁ;;:.Ss;S}, tl;e;1 corel_ of the
century French Economist, enunciated the - Sropesition-.th e? i
creates ‘1‘ts own demand.” This is known as Say’s Lav? ISUSPPI’Y
Yvords, It is production which creates markets for goods A nro:ll ot
is no sooner created than it, from that instant affords a 'marlljcet lffCt
othier progl_ucvts to the full extent of its own. v;ﬂue. Nothing is m b
favourable to the demand of one product, than the suPPl}Loge;'

991 . . .
another.”! In_its original form, the law is applicable to a barter

economy 'where gdod§ are ultimately sold for goods. Every good
brought to the market is a demand for some other goods. Accor ing

to Say, work being unpleasant no person will work to make \a pro-

duct unless he wants to exchange it for some other product\ which he
desires. Therefore, the very act of supplying goods implies a demand
for them. In such a situation there cannot be general overproduction
because supply of goods will not exceed demand as a wiole. But a
particular good may be overproduced because the producer incorrectly
e:timates the quantity of the product which others want. But this is
a temporary phenomenon for the excess production of particular pro-
duct can be corrected in time by reducing its production. James Mill

hes supply without furnishing deman
an equal extent .. . whatever the amount
never exceed -the amount of annual
demand.” Thus supply creates its own demand and there cannot be
general overproduct and hence general unemployment. '

The existence of mofey does not alter the basic law. ‘‘Say’s law, in
a very broad way, is,”” as Professor Hansen has said, ‘“‘a description
of a frée-exchange‘econbmy. So conceived, it illuminates the truth
that the main source of demand is the flow of factor income generated
fl‘(_)m the process of production itself.””? When producers obtain the
various inputs (land, labour and capital) to be.used in the production

process, they generate the necessary income accruing to the factor

at the same time and both to

1J.B. Say, Political Ec.ouomy, (4th ed.), Vol. 7, pp. 144, 167, 170.

3A.H. Hansen, 4 Guide to Keynes, p. 3. -

i

oduction is the cause, and the sole capse of
,both

\
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;étls. that the total money supply MV equals the total value of output
?T in the economy. Assuming ¥V (the velocity of money) and T
tthe total output) tf) be constant, a change in the supply of money
‘M) causes a proportional change in the price le.el (P). This is based
on the assumption that money acts as a medium of exchange.

Thc': relat.non b?tween. quantity of money, total output and price
evel 1s.de'plcted In Figure 6.2(A) where the price level is taken on
‘he horizontal axis and the total output on the vertical axis. MV is

‘he money supply curve which is a rectangular hyperbola. This is
oecause the equation MV =PT holds ‘

on all points of this curve. Given' the " (A
output level OQ, there would be only m&%
one. price level OP consistent with the Qr—
quantity of money as shown by point 5 W My
mon'the MV curve. If the quantity ‘% S~

. of money increases, the MV curve will © My

shift to the right as M,V curve. As a O=F%—p >
result, the price level would rise from 1 1
. I

-OP to OP,, ~given the same ‘level of A W/P

output OQ. This rise in the price level '
[ (B)
| =

is exactly proportional to the rise in
the quantity of money, i.e., PPy=mm,;.
P P1
Price Level

s

Money Wage

Having determined the price level
with' the help of the total quantity of
money MV and the total output OQ,
it is possible to" determine the money
wage consistent-with a given real wage. TG o5
"This is explained in Figure. 6.2(B), R

where W/P is the real wage line or wage-price line. When the price
level is OP, the money wage is. OW. When the price level rises to
OP; the money wage also rises to- OW,;. The wage-price combina-
tion O W,=QP, is consistent with the. féil employment i real wage
level W/P of Figure 6.3(A). .

Pigou’s Version. The classical theory ‘of employment received its
final version at the hands of Pigou who formulated Say’s Law in terms
of labour market. According to Pigou, under free competition the
tendency of the economic system is -to. automatically prc_)vide-full
employment in the labour market. Unemployment results from rigidity
in the wage structure and intecferences in the working of the free mar-
ket economy. When the state intervenes by recognising trade unions,

- passing minimum wage laws, etc., and labour adopts momnopolistic

O
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| and unemployment ensues. If 4

behaviour, Wages . 'puShedre;I:)vzgdand foprces of competition al}el:
government mtcrfcrcnce::1 ar Canip-ulation of wage rates will lead to fy);
allowed to work freel.y, the m pigon. “With perfectly free compet;.
cmployment.. As‘pomtcd out by Pigou, "d for .
tion . . . there will always be at work a stro!lg tencency 3 ae I.rateﬁ 9
be “so related to demand that everybody 1s employed.™ The Pigoviay,
equation N:(ZI:; explains the entirc proposition. In this equation A i
the number of workers employed, g is the fraction of income carneg
as wages and salaries, Y is the national income and W is money Wage
~ rate. N can be increased by a “reduction in W. Thus the key 1o full
(Al employment is a reduction in money
A - wage. This is explained in the adjoip-
d s,5  ingFigure 6.3. In panel (A), Sis the
. - supply curve of labour and Disthe .-

¢ demand curve for labour. The inter-

’ D - sectionof the two curves at E shows
SN thé‘ ppin% of full employment Nrand
the real wage W/P:at which full em-
| ployment is secured. If the real wage
e is maintain&q ,atié. higher lev_eli‘W/Pl,
I (B) - supply exceeds the demand for iabour

, by sd. N,N; labour js unemployed,
. - It is only when the wage is reduced to
W\MP L W/P that unemfaloyment disappears
‘ _ 2 ‘
0 o > N and.the levgl_ of )‘full employment is
| -attained. This is shown in panel (B),
- Employment where MPLis the marginal product
© " .FIG.63 . labour curve which slopes downward
T ~ asmore labour is employed. Since
al to his marginal product, ‘therefore
reached when the wage rate falls from-

Real Wage

@)

'Noll 'Nﬁ-
:Ts

W/P,
W/P =

-every worker is paid wéges 'equ
the full employment level N} is
W|P; to W|P. . -

- Intheé classical model of employment, chapges in money wages and
real Wages are directly related and are propartjonal. When there'is a
cut in the “mo,'néy wagg, the real wage is alsq feduced to the same ex- .
tent which reduces unemployment and ultithately brings full employ- )
ment in the conomy. This relationship. is based on the assumption .
that prices aje proportional to the quantity of money, It'is argued that
in a competitive economy a reduction in the | money wage reduces the
’A.C, Pigou, Theory ogfmpldym?n_t. D.252, -
: s - off oo ! o
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cost of pr
e dell') tzdllrll(:::):hinli (I:)rlces é)t('i products thereby raising their demand.
rease em i
are employed to produce them. and for .the products, morée workers
A

ploysmfelzfll(s)};melg increases, total output also incteases till full em-

‘evel, total etac ed. But when the, economy is at the full employment .
output becomes stable. Thus gwen the stock of capltai

technologlcal knowledge and resour- =
ces, a precise relation exists between 4 Q *P
~ total output and the amount of em- Q F(K, T,N)
" ployment. Total output is an increas- ..

ing function of the number of workers. 2
This is shown in Figure 6.4 where Q=1 g

(K,T,N), that is, total output Qis a | .
. function of ‘f* of the ‘capital stock K, = O N >
of technological knowledge T,-\fgnd ‘ g

the number of workers, N. This pro- E?IF();IOZTGM

duction function shows that in the

short run the total output is an increasing function of the number
of workers given the capital stook and technological knowledge Inthe
Figure, the total qutput 0Q, corresponds ‘to the full employment
level Nr (of Figure 6. 3).

The classicists believed that under ‘normal competltlve conditions
 full employment will be ‘maintained without inflation. Even competi- |
‘tion among: employers to hire more workers will not bid wages above
the full employment level, and there will beino possibility oficost infla-
_ tion in the econorly. Further, due to the .operation of Say’s law, the

full employment level of output will create demand equal to that level.
It is the increase in aggregate demand which causes inflation. But the
mechamsm of the rate of interest prevents aggregate demand to in-
crease more than the total output. Again, -inflation is caused by the
increase in the quantity of money by more than what can be absorb-
ed by the expanding output. But this is also not possible because an.
increase in the quantity of money increases only the absolute price
level and not relative prices. Hence there 1s full employment without

 inflation in the classical system.



~ Keynes’s Criticism of Classmal Theory
Keynes vehemently criticised the classical theory of employmem

for its unrealistic assumptions. He wrote in his General Theory that
“‘the charactenstlcs of the special case assumed by the classical theory
. happen not to be those of the economic society in which we actually
live; with' the result that its teaching'is misleading and disastrous if we
try to apply it to the facts of experience . . . It represents the way in
Whlch we should like our -economy to behave But to assume that it
actually does 5o is to assume difficulties away.” Keynes attacked the
classwal theory on the following counts.

(1) Keynes rejected the fundamental classical assumptlon of full
employment equilibrium in the economy. He considered it as unreal-
istic. He regarded full employment as a special situation. The general
situation in a capitalist economy is one of underemployment. This is
decause the capitalist society does not function according to Say’s 1a¥
and supply always exceeds its demand. We find millions of workers
are prepared to work at the current wage rate, and even beloW it,
but they do not find work. Thus the existence of involuntary unem?-

onmpnt in capitalist economlcs (entirely ruleq out by the classicists
proves  that underemployment equilibrium js g normal situatio®
~and full zmployment qul.l.hbﬂum is abnormal and accidental,



(2) Keynes refuted Say’s Law of markets that supplyjalways created
its own demand. He maintained that all income earned by the factor-
owners would not be spent in , buying products which they helped
to produce. A part of the ea.rned/ income is saved and is not auto-
matically invested because saving and investment are distinct func--
tions. So when all earned income is not spent on consumption goods
and a portion of it is saved, there results a deficiency of aggregate |
demand. Thic leads to general overproduction because all that is pro-
duced is not sold. This, in'turn, leads to general unemployment. Thus.
Keynes invalidated Say’s Law by invoking the principle that marginal
propensity to consume is less than one. HE | ]

- (3) Keynes did not agree with the classical view that the /aissez-faire
policy was essential for an automatic and self-adjusting process of full
employment equilibrium. He pointed out that the capitalist system
was not automatic and self-ddjusting because of the non-egalitarian

—_—

structure of ifs'sg;c_iety. There dke two principal classes, the rich and

the poor. The rich possess much wealth but they do not spend the .

whole of it on consumption. The *pgof " lack money to purchase con-
sumption goods. T‘tﬁs/.t;here is geiietal deficiency of aggregate demand
“in relation to _aggr_cgaté supply whicliteads to overproduction and
unemployment in the economy. This, in fact, led to the Great Depres-
sion. Had the capitalist s.S'stem been automatic and self-adjusting this
~ would not have occurred. Keynes, therefore, advocated state interven-

tion for adjusting supply and demand within the economy through
fiscal and monetary measures. o e

“’(4) "The classicists believed that. saving: a'\nd investment were e_ciual !

- at th’c,"'f_ull employment level and in case of any diyérggnce the equa-

lity was brought about by the mechanism of rate of interest. Keynes -

- held that the level of saving depended upon- the level of income aud
not on the rate of interest. Similarly investment is determined not only
by rate ‘of interest but by the marginal efficiency of capital. A low
rate of interest canmot increase’ investment ' if business expectations
are low. If saving exceeds. investmént, it. means ‘people are spending
less on consumption. As’a result, demand declines. There is overpro-
duction and fall in investment, income, employment and output. It
w.ill. lead to regiuctiqn in saving and ultimately the e’quélit? \betwé‘en
~saving and investment will be attained at a lower leveisof income.
Thus it is variations in income rather than in jnterest rate that brin

the equalitybetween saving and investment,
(5) The classical ec ' ’

“

for tra; : : o :
- t?agfact{ons. and precautionary - purposes. They did not recognise

. onomists’ believed that money was'demanaed .
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*‘money. He¢ | ' precautionafy purposes may be very s
for transactions an the speculative demand for mop, EY) t,
"_lbw rate of in te of interest. Thus the rate of intZOUId b&
infinitely 1arge “cortain minimu'm-‘ IeV_eI, and _the S.peCUIative :1 Sty
ot fall b_elOW 2;d become perfectly interest elastic. This jq Izmand
" fgr 2o eyt V;:O?\;vhich the classicists failed to analyse. %es
»hcﬁud;zorglfmy‘, Keynes pointed out that it was possible fo Sayi
to ciceed vestment while the rate of interest was positive. Tp llqlzlg
dity prevents the rate of interest from falllng below Cer?ain. i,
level. This may, in turn, prevent the equahty\ of saving and inVest
ment. This 1 Jlustrated in Figure 6.5 where SS is the saving Cﬁryé

and 1] the investment curve. If the liquidity trap is at Or; rate of inte.
-rest; it would prevent the interest rate from falling to Orand the
cquality between saving and investment will not be brought aboy
: - at point E. At the liquidity trap
-level Orq saving exceeds invest.
ment by 7; 5;. So the economy
- will not settle at the full employ-
ment level (E) where saving and
investment are equal but at
underemployment  equilibrium
where saving exceeds ‘invest-
ment. ’ o
Keynes further pointed out
that even if the rate of. interest
Saving and tnvestment were to-fall to zero, there would
. still be an excess of saving OVer
_investment. This is also explained
A o in Figqre 6.5. where the curve Ilf \"
ssibil debres ; 1 showing _fall.m investment. Suc
f!}fceeds. Investment by ;i 1y thilon" At zero interest rate saving
investment curves intersecy. oy | § situation, the classical saving and

s > e . at poj | Vi
Or’ is negative. This is an absur 5:113: f’ when _the rate of interest
(6) The classica : ation. | :

) cal economists regayqeq money as neutral. Therefore

g Output, emp]los .
7 . . ployment and interest rate from
the monetary théory. According to them, the level of output and en”

M rate of interest- were determined by

Rate of 'Interest

. F1G, 65

ployment, and the equilibrin



real forces: Keynes criticised the classical view that the monetafy ~
theory was separate from the value theory. He integrated monetary
theory with value theory, and brought the theory of’interest in the-
domain of monetary theory (b_y regarding the interest rate as a mione-
tary phenomenon). He integrated the value theory and the monetary
theory through the theory of output. This he did by forging a link
between thé quantity of money and the price level via the rate of in-
| terest. For instance, when the quantity of money increases, the rate of
interest falls, investment increases, income and output increase,
démand increases, factor costs and wages increase, relative prices in-
- crease, and ultimately the general price level rises. Thus Keynes inte-
grated monetary and real sectors of the economy.
~ (7) Keynes refuted the Pigovian formulation that a cut in money °
.wage could achieve full employment in the economy. The greatest fal-
lacy in Pigou’s analysis was that he extended the. argument to the
" economy which was applicable to a particular industry. Reduction in.
wage rate can increase employment in an industry by reducing costs-
‘and increasing demand. But the adoption of such a policy for the.
economy leads to a reduction in employment. When there is a general
wage-cut, the income of the-workers is reduc_ed. As a result, aggregate
demand falls leading to a decline in employment.
From the practical view point also Keynes never favoured a wage--

In modern times, workers have formed strong trade unions
They would resort to strikes. The

1d bring a decline in output
ds that wages shou'd not

cut policy.
which resist a cut in money wage.
consequent unrest in the ecomomy wou
and income. Moreover, social justice deman

i hed.
be cut if profits are left untouc ' . |
Keynesp also did not accept the classical view that there was a direct

proportionate relationship between money Wages and real vz;ies..-'
According to him, there is an 1nf.'erse rela.tlon between the two. '.d en "
money Wwages fall, real wages rise and vice versa. Therefore, a reduc-
tion in the money wage would not reduc.:e the. .1'62‘11 wage, as the classic-
ists believed, rather -it would increzf_se it. This Is because Fh:hmoxsﬁz
wage-cut will reduce cost of production .and prices by motclel : 2;162156
‘former. Thus the classical view that fallin the real wages \;’l t.n:n o
eﬁlployment breaks down. K_eynes,. however, believed t ::1a :d ol
ment. could be increased more easily through monetary

. o ‘ ¢ institu-
measures rather than by reduction in money wage. Moreox/e t,h it s
and price reductions are SO strong thd
ratively. . ‘
| méladjustmcnts
: . 13 Thc

> tional resistances to wage anc eductions &

not possible to implement such a Pohcy adtgm"lst'ona
(8) Keynes did not agree with Pigou that ’ fric (Iiuctiv e power.

~alone account for failure to utilise fully ouf pro RO



capifalist system is such that left to dtself it is incapable of Using
productive power fully. Therefore, state intervention is necessary
The state may directly invest 10 raise the level of economic activify 0;
to supplement private investment: It may pass 1eigislation‘ recdgﬁising
(rade"unions, fixing minimum Wages and providing_rel'}e'f. to dorkers
through social security measures. “Therefore”, as observed by Dillard,
““it is bad politics even if it shculd be considered good economics to
object to labour unions and to liberal labour legislation.” So Keynes
- favoured state action to utilise fully the resources of the economy for
4t taining full employment. '. ’

(9) The classicists believed in the long-run full employment equili-
brium through a self-adjusting process. Keynes” had no patience to
wait for the long period for he believed that “In the long-Tun we are
all dead”. As pointed by Schumpeter, . “His philosopﬁy of life was
essentially a short-term philosophy.” His analysis is confined to short-
run phenomena. Unlike the classicists, he assumes tastes, habits,
techniques of production, supply of labour, etc. to be constant during
the short per}od and so neglects long-rim influences ~on demand.
.Assumi‘ng tj,onsumptjron demand to be constant, he lays emphasis oD
increasing investment to remove unemployment. But the equilibrivim
leyel( so reached is one of underemployment rather than of full
employment. £ 3 . » ‘
ab}ehujfﬂ;z Icvliz;sswta}: theory of employment is unrealistic and 18 lnCcLPst '
world. & the present day economic problems of the cap!t?



The Pri'nci'pl-e,_ of Effective Demand: 'Ag'gregafe~
- Demand and Aggregate Supply*. =~

ply*

The logical starting' point of Keynes’s theory of employment is. 1
principle of effective demand.! In a capitalist economy the level o
employment depends on effective demand. ‘Thus unemployfmeht"i'e-
sults from a deficiency of effective demand and the Jevel of émp:loy,m'en
can be‘ raised by increasing the level of effective demand.

Meaning

In ordinary parlance demand means desire. It becomes effectivi
when income is spent in buying consumption goods and investmen
goods. Keynes used the term ‘effective demand’ to denote the tota

“demand for goods and services at various levels of employment. Diffe

" _rent levels of employment represent different levels of aggregat

_demand. But there can be a level of employment where aggregate de
niand equals aggregate supply. This is the point of effective demand
In Keynes’s words, “The value of D (Aggregate Demand) at the poin

 of Aggregate Demand function, where it is intersected by the Aggre

gate Supply function, will be called the effective demand.” Thus

according to Keynes; the level of cmplo'yment is determined by effec

tive demand which, ia turn, is determined by aggregate demahd prici

and aggregate supply price.

Aggregate Demand Price

“The aggregate demand price for the qutput oLy gi.vgn-.gar:wcr:..

~ of employment is the total sum of money o1 progeeds, which 1;_ t‘;agzu

', ed from the sale of fhe output produced whenmt!\at 2.1‘“0}‘11 maﬁwun‘ ¢
“is employed.”® Thus the aggregate demand price is he

. gate
| | Ly f deriving ABSrC
*We have confined our analysis to Keynes's mm:?:,c(;nalysis refer 10
demand and aggregate supply functions. For an altern :



Macro€conerr= = LI

preneurs expect to get by selling thé

¢ of men employed. In other WOrdSO“‘p“tpr e
0

the numbe G o T it
reveniie from the sale O output produced g X

 of employment. Different aggregate demand prices'fei‘a&artlcular
tevel Okt nt in the economy. to gig
rent levels of employme o . __ |
. - we various aggregate demand Prices

ing -t
A statement SROWIRS ©F ©° h : at dig
it levels of cmployment 15 called the aggregate demand pyig, -

dule or aggregate dernand function. ‘;‘_The aggregate demand funcgy
sccording to Keynes, ‘‘relates any given level of- imployment to'ﬂ’\e
expected proceeds from that level of employment. 3 Table I shoy, y
aggregate demand schedule. - | | L
" The Table reveals that with the increase n the level of employmeyg
Jiocceds expected (4 DP) rise and at lower levels of employment de.
‘ne. When 45 lakh people are: provided employment -the -agaregat
: .'demand price 18 Rs 280 crores and when 25 lakh people-are provide
jobs, it is RS 240 crores. According to Keynes. the aggregate demand
" fundtion is an increasing function of the level of employment and is
e'xp}essed_ as D=F(N), where D is the proceeds which entrepre'ﬁc{ii‘s
expect from the employment of N men. = -

méney which the entre
duced- by

l’ef,:r
the expected RN

~TABLE I: AGGREGATE DEMAND SCHEDULE

——

~ Level of Employment (N) Aggregate Demand Price (D)
(in lakhs) (Rs crores)
- ey 240
30 fige 250
g 260
40 . Lo L e 970
s dn 53 St . 280
‘ Ad A T iy 5 IR T i3 290 /
The aggregate demand curve can be drawn on the basis of the ab0

~ schedule. It slopes upward from feft to right because as the Jevel ©

:, . . . - as
; employment increases aggregatc - demand price also rises, S.hown

AD curve in Figure 7.1.

: Aggl'e'gate Supply Pri_ce Syt - skl o

~ When'an entrepreneur giveés employ ment t0 certain"amoul;tﬁd,
‘labour, 1t Tequires certain quantities of cooperant factors like 12
el 3 " ~ ‘ . 3 , s



capital, raw material, etc. which will bé paid remuneration along with
labour. Th_us, each level of employment ‘involves certain money- costs
of proq?ctnon including normal profits which/\the entrepreneur must
'co.ver._ “At apny given level of employment of labour aggregate supply
price is the total amount of money which all the entrepreneurs in the
economy, taken together, must expect to receive from the sale of the
output produced by that given number of men, if it is to be just
worth employing them.””4 If brief, the aggregate supply price refers to
the proceeds necessary from the sale of output at a particular level of
e;mploym.ent. Thus each level of employment in the economy is related
to a particular aggregate supply price and there are different aggre-
gate supply prices for different levels of employment.

A statement showing the various aggregate supply prices at diffe-
rent levels of employment is called the aggregate supply price schedule
(jr aggregate supply function. In the words of Prof. Dillard, ‘“The.
d ggregate supply function is a schedule of the minimum amounts of

- proceeds required to induce varying quantities of employment.”?
Table II shows the aggregate supply schedule.

TABLE II: AGGREGATE SUPPLY SCHEDULE

Level of Employment (N) Aggregate Supply Price (Z)
” " (in lakhs) ) (Rs crorés) 5
20 . 215
25 | 230
30 , . 245
35 260
40 275
40 _ ' 290
40 . 305

- The above table reveals that.the aggregate supply price rises with
the increase in the level of employment. If the entrepreneurs are to
provide employment to 20 lakh workers, they must receive Rs 215
crores from the sale of the output produced by them. It is only when
~ they expect to receive the miinimum amounts-of proceeds (Rs.230
. crores, Rs 245 crores and Rs 260 crores) that they will provide -emp-
loyment to more workers (25 lakhs, 30 lakhs and 35 lakhs respective-
ly). But when the economy reaches the level of full employment (at
~ 40_lakh workers) the aggrega‘e supply price (Rs 275,290 and 305

crores) conginues to iillcrcase but there is no furthef' increase 1n
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employment. ACC tion of the level of employment oy 4 _ip Y: fuy

. creasing function 0 ; s gy gy

;n lgj\r’et;me%c Z is aggregate supply price of the outy,, fro’l:xlle:s iy ;:
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ing N men.’ Play,

. The aggregate supply curve can be'd:iwl? On the bas;g Of h,
dule: Tt slopes upward from left to rllgf ' e‘;?gse‘ as the nec;%‘
expected proceeds increase, the level o 1emp Oyment also rises'_%
when the economy reachg's. the_level' of.f.u I-em.Plo.Vmen-.t, the y
" supply curve becomes vertl'cal. Even wn.th the increase in the ag
supply price, it is not possible to provide more Cmploymen, 3 A
economy has attained the level of full employment, | g

Determination of Effective Demand |

We have studied the two determinants of effective demap
ly and now are in a position to analys¢' the process of deter
level of employment in the economy. The level of emp
determined at the point where the aggregate demand Pric
aggregate supply price. In other words, it is the point wh
entrepreneurs expect to receive equals what they must rec
profits are maximised. This point is C_allcd the effective
here the ‘entrépreneurs earn normal profits. So long as the aggregate
demand price is higher than the aggregate supply price, the.prospects
of gefting additional profits are greater when more . wor

kers are pro-
_ vided employment. The proceeds expected (revenue) rise more than the
“proceeds necessary (cdsts). This

: | Process will continue till the—aggre:

- gate demand price eqals the a‘ggregaté‘supply price and the point of
eﬂ”ecti’ve_ demand is reached, This point determines the level of employ-
ment and output in the economy. The point of effective demand is,
however, Dot necessarily ong. of fy] 'en'nploy’mefnt but of underemploy-
meat equilibrium. If the entrepreneurs try to provide more employ-
ment after this point, tp ' S :

d S€parate.

IOYment is
€ €quals the
ere what the
eive and their
demand and

‘ : : losses. 3 ‘will not e.mPl‘”_'
workers -l.)ey()pd_ the Point of eff; c?iowléh;e:r?:;?r;?l?iﬁcwgggfégafc ' de
me.md price rises to mce“he‘aggregaté sixppl y price at the new equill”
brium point which may pe one of full em lovment. If the aggregal®
demand price is raised stif] further, i - up y '--nﬂat'idnf for 10
inc_rease- in employment and ey WIY. lead to 1 :

out "1 .of full

employment. The followi; go'utp“t is possible beyond the le.vﬁ‘(;{":t'hﬁ

A / ol ‘ . _. : ‘ n tableL . , . : Y rmi. atlo ( Y
point of effective demand. *xplains the determinatio

Mining thy
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thzgiill?elzlal S?eowi that so lon_g as tl_le aggregate demand price is higher

ggregate supply price, it is profitable for the. entrepreneurs
to employ more workers, when the entrepreneurs eipect to receive
: Rs 230 crores, Rs ?40 crores and Rs 250 crores than the 'procéeds
necessary amounting to Rs 215 crores, Rs 230 crores and Rs 245
crores, they wlll provide increasing emiployment to 20 lakh, 25 lakh
elmd 30 lakh workers respectively. But when the proceeds neceésary
a.nd proceeds expected equal Rs 260 crores the level of employment
rises to 35 lakhs. This is the point of effective demand. If we as-
sume the level of full employment to be 40 lakh workers in the eco-
nomy, it will necessitate the drawing up of a new aggregate demand
price schedule as shown in Table III last column. As a result, the new
- point of effective demand is 40 Jakh workers because both the aggre-
gate demand price and the aggregate supply price equal Rs 275 crores.
chpnd th'}s point there is no change in the level of employment which
. is steady at 40 lakh workers. | |

TABLE 1II: SCHEDULE OF AGGREGATE DEMAND AND AGGREGATE
‘SuPPLY PRICES , ' 3

-——

Level of | Aggregate Supply Aggregate Demand .
Employment (N) - Price (Z) Price (D)
(in lakhs), (Rs crores) - ‘ (Rs Crores)
, ' old New
20 ! 215. - 230 ‘ 235
25 - 230 240 245,
30 245 250 255
35 260 - 260 265’
40 ' 275 270 . 275
40 290 - 280 . . 285.
40 305 £ 290 295

{llustrates the determination of effective demand where

Figure 7.1 ' .
4h demand function and AS the aggregate supply

AD isithe aggregate . ]
function. The horizontal axis measures the 1
- the economy and the vertical axis, the proceeds expected (revenue)

'n ' D inter-
the pi ‘necessary (costs) The two curves AD and AS intel
and the proceeds n&C y ( D

sect each other at point E. This is effective de_mand whe: e
“are employCd..,A:"c, this point the 'entreprene'urs.’ expectanons oi‘ufsr wili
are maximised. At any point other than this, the e,ntreplre? employ-
. either jncur losses or earn subnormal profits. At otzzalllev:?heo proceeds
ment. the proceeds expected (revenue) are -f“f’[ei ghaf it is 'proﬁfab]e
necessary (costs), i.e., RN '= CN'. This indicates FAE5 750

evel of employment in
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Proceeds

m the short rup, Iy 18, therefore
the aggregate demand function which plays 5 vital role in determin'ing
the level of employment in the econosy, Accdrdi'ng to Keynes, - je
aggregate demand function depends on the consumption function ang
investment function, The cause of ‘unemployment may be a fal] ip
either consumption €xpendi- ) |
ture- or investment expendi- N AS
ture, or both.  Tpe level of o - EJM AD!
emoloyment can be  raiseq by § o £+
illcreasil_lg either Consumption S & ] ‘W:‘&f“\AD
€xpenditure o Mvestment gy QE_) S : 2
pénditure, Or both, Thus 1t s 5 i

o : W .
'thc‘ aggregate “demal.md function L
. Which s _the “effectiye clement - o L--im-‘-,-%
In the principle of effective de- | N Ng
mand Prof. Dillard regards this Employment
as -the core of the Principje of .

efféctive demand.
It'follows that tor

aise.the €cong
requires the raising

_ 1e. € 1o the Jeye fu loyment
of Ehe Pmpt of eﬂ'ect've- \en:‘igfbf; Iilnzzfsinyg ‘the
wated iy igure 7.2, where E is the
etermines level of e\mploymem- :
ment fo‘r the e'conomy, it requires

point of effective demand which
If ONy is the level of full. employ



the ralsmg of the point of eﬂ'ectwe demand. This is possible by
raising the aggregate demand curve to AD’ (last column of Table III} -

where it mtersects aggregate supply curve AS at E’. This is the
pew point of effective demand which provides an opnmum level of
employment ONy to the economy. If the aggregate. demand functlon
is raised beyond this point the economy will experience inflation
because all the existing resources are fully employed and their supply
can,not ‘be increased during the short run, as is apparent. from the

vertical portion of the AS curve in the Figure 7 2;



